
� �
¿

∞È
rK&

r

x:−
¿
ØrKr x:−

¿
ØrKr

x:�|
oo

x:−
¿
ØrKr

x:��b :

mm

x:�b :
oo

x

σ

i

�|�
m

=
x i

�
j σ

j

�
k

x k

�−1

m − κ
x

σ

i

�
k

x k

�−1

m =
x i

�
j σ

j

�
k
− κ

x

σ

i

�
k

X Z

x k

�−1

m

x

σ

·
�|�

·
=

x ·
�· σ

·
�·

x ·
�−1

· − κ
x

σ

·
�·

x ·
�−1

· =
x ·
�· σ

·
�·− κ

x

σ

·
�·

X Z

x ·
�−1

·

x�= x = xı

x

µσ

i

�|�:¥
m

=
x
µ

i

−
�

j σ

j

�n − κ x
µσ

i

=�n −
x i

�
j σ

j

�
k
− κ

x

σ

i

�
k

Y [

x k

�−1

`

x

µ

`

�n +
x i

�
j µσ

j

¥n

X Z

x n

�−1

m

∼
µσ

·
¥· =

x
µ

−1

−
�ν

σ

·

ν

x:�|�
·
+

n

σ

·

j

x:�|�
τ

·
ντ

j

¥n

X Z

=
x
µ

·

−
�· σ

·
�·− κ x

µσ

·

=�·−
x ·
�· σ

·
�·

x ·
�−1

·

x

µ

·
�· + κ

x

σ

·
�·

x ·
�−1

·

x

µ

·
�· +

x ·
�· µσ

·
¥·

X Z

x ·
�−1

·

σ

i

ν

x:�|�
m

=
x

ν

i

�
j σ

j

�
k
− κ

σ

i

�
k

Y [

k

�−1

m =
x

ν

i

�
j σ

j

�
k
− κ

σ

i

�
k

x k

�−1

m +
x i

�
j σ

j

�
k
− κ

x

σ

i

�
k

Y [

x

ν

k

�−1

m

=
x
ν

i

−
�

j σ

j

�
k
− κ x

νσ

i

=�k

X Z
x k

�−1

m − x i

�
j σ

j

�
k
− κ

x

σ

i

�
k

Y [

x k

�−1

`

x

ν

`

�n
x n

�−1

m =
x
ν

i

−
�

j σ

j

�n − κ x
νσ

i

=�n −
x i

�
j σ

j

�
k
− κ

x

σ

i

�
k

Y [

x k

�−1

`

x

ν

`

�n

X Z

x n

�−1

m

n

σ

i

j

x:�|�
τ

m
=

x i

�
k

k
δ

j σδ
τ n

δ
`

x `

�−1

m =
x i

�
j σδ

τ x n

�−1

m

n

σ

i

j

x:�|�
τ

m
ντ

j

¥n =
x i

�
j σδ

τ x n

�−1

m ντ

j

¥n =
x i

�
j νσ

j

¥n
x n

�−1

m

� LHS = x
µ−ı

ν

σ

i

ν

x:�|�
m

+
n

σ

i

j

x:�|�
τ

m
ντ

j

¥n

X Z

= µδ
ν x

ν

i

−
�

j σ

j

�n − κ x
νσ

i

=�n −
x i

�
j σ

j

�
k
− κ

x

σ

i

�
k

Y [

x k

�−1

`

x

ν

`

�n +
x i

�
j νσ

j

¥n

X Z

x n

�−1

m = RHS



x

µσ

i

�|�:¥
k

−
x

σµ

i

�|�:¥
k

+ κ
x

µ

i

�|�
j

x

σ

j

�|�
k

−
x

σ

i

�|�
j

x

µ

j

�|�
k

Y [

gauge

inv
=

x ·
�· µσ

·
¥·− σµ

·
¥· + κ µ

·
�· σ

·
�·− σ

·
�· µ

·
�·

Y [

X Z
x ·
�−1

·

LHS =
x
µ

·

−
�· σ

·
�·− κ x

µσ

·

=�·−
x ·
�· σ

·
�·

x ·
�−1

·

x

µ

·
�· + κ

x

σ

·
�·

x ·
�−1

·

x

µ

·
�· +

x ·
�· µσ

·
¥·

X Z

x ·
�−1

·

− x
σ

·

−
�· µ

·
�·− κ x

σµ

·

=�·−
x ·
�· µ

·
�·

x ·
�−1

·

x

σ

·
�· + κ

x

µ

·
�·

x ·
�−1

·

x

σ

·
�· +

x ·
�· σµ

·
¥·

X Z

x ·
�−1

·

+κ x ·
�· µ

·
�·− κ

x

µ

·
�·

X Z

x ·
�−1

·
x ·
�· σ

·
�·− κ

x

σ

·
�·

X Z

x ·
�−1

· − κ x ·
�· σ

·
�·− κ

x

σ

·
�·

X Z

x ·
�−1

·
x ·
�· µ

·
�·− κ

x

µ

·
�·

X Z

x ·
�−1

·

=
x
µ

·

−
�· σ

·
�·−

x
σ

·

−
�· µ

·
�·

X Z
x ·
�−1

· +
x ·
�· µ

·
�·

x ·
�−1

·

x

σ

·
�·− σ

·
�·

x ·
�−1

·

x

µ

·
�·

X Z

x ·
�−1

· + κ
x

σ

·
�·

x ·
�−1

·

x

µ

·
�·−

x

µ

·
�·

x ·
�−1

·

x

σ

·
�·

X Z

x ·
�−1

·

+
x ·
�· µσ

·
¥·− σµ

·
¥·

X Z
x ·
�−1

· + κ x ·
�· µ

·
�· σ

·
�·− σ

·
�· µ

·
�·

X Z
x ·
�−1

·

+
x

σ

·
�· µ

·
�·−

x

µ

·
�· σ

·
�·

X Z

x ·
�−1

· +
x ·
�· σ

·
�·

x ·
�−1

·

x

µ

·
�·− µ

·
�·

x ·
�−1

·

x

σ

·
�·

X Z

x ·
�−1

· + κ
x

µ

·
�·

x ·
�−1

·

x

σ

·
�·−

x

σ

·
�·

x ·
�−1

·

x

µ

·
�·

X Z

x ·
�−1

·

=
x ·
�· µσ

·
¥·− σµ

·
¥· + κ µ

·
�· σ

·
�·− σ

·
�· µ

·
�·

Y [

X Z
x ·
�−1

· = RHS


